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EX—505(N) .
B. E (Flfth Semester) EXAMINATION June, 291{}
.- (New Scheme)

(Electrical and Electronics Engg Branch)
PG)WER SYSTEM I

‘Note : Attempt any fr';re ique_stmns.i_ All questioils' cany equaf
marks, -

L (a) Write a shon}t' néte on non-couvent:onal 'source of .
electricity genqrau :

(b} Compare tl:leé erfonnance of hydrai ‘and thermal
P |
power plants, ; : : '

|J|

2. (a) Write the statcment df Kelvm law of ecanomy and
derive an éxpression for most econpmxc size of |
. . c¢onductor, ‘-i’f.f’ L . :

(by" Write short notes on the followmg
(i) . Load curve.‘s Lk T :
(i) Base Ioads,__-i_ :'- - : -rngOI‘lliHE-COm
' (iii) Load facti;“: | | : ’
(iv) ‘Diversity factor
Y () Demand factor :
L "RT O
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5 (a) Derive an expression for inductance of a three-phase
transmission line with unsynunetncal spacing w1t1{
solid round conductor.

(b) Calculate the inductance of a three phase transmission
line with horizontal spacing between adjaccnt phase as
8 meters and radius of conducter as 1 ¢m. Assume
solid round conductor.

8m 8m

4. (a) Draw the cross section of a 3 core belted cable and

discuss the function of each part.

(b) Determine insulation resistance and capaatance of '

'smUle core cable. . B

5. (a) Derive ABCD constands . of medium. length
transmission line using nmmnal 7w model. Draw the
phasor diagram also.

(b) A three-phase, 50 Hz, 150 km line has a resistance
+ - inductive reactance and shunt admittance of 1.obm

the line delivers S0 MW 4t. 118 kV and & pf lagging

determine the sending end voltage and current. )

Assume a nominal & model.

6. A 3-phase overhead line has a series impedance of
10 +j 30 ohm per phase. If the receiving end voltage is 132
kV and sending end voltage is 140 kV, draw the receiving
end circle diagram and determine : :

{a) The maximum rea! power which the line can supply -
and the load power factor for drawing’ this maximum
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and 3 X 10~ ®mho per km. per phass respectively. If

®)

(c)

(dy.

- voltages at ab&ve values

7. (a)

8 Write short notes; 1911 any two of the followmg

(a)
(b
©
(d)

(e)
¢
()
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The - capamty of shunt compensation equipment

needed for suppiymg a load of 150 MVA at 8 pf lagging

and power a;agle for this lpad condition

- The capac;ty of shunt compenisation' needed to
‘maintain the! above voltage under no-load: CODdlthlL

The unity pf load Whlch the linc can supply with

Describe the constmctwn of suspension type insulator,

How will you determine | 1ts string efficiency for n
number of dasm ?

An msulatornstnng for 33 kV. line has 4 discs. The
shunt capacitance between each joint and metal work
is 10% of the capacxtancc of each disc. Find the
voltage across the differc:: <} discs and string efﬁmency

Comparison of cable and everhead ling

Methods of i 1mprovmg strmg efﬁclency
Kelvin law and its lmntatlon

Influence of voltage on cost "and cfﬁcwncy of
transmission

Bundle cor;du_cmr
Series and shunt compensatinn
Type of towers
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